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Question Number : 1071 Question Id : 21280732651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If a teacher has to explain ‘Law of Gravitation” in the classroom, which kind of knowledge is this ?
(1) Factual

(2) Conceptual

(3) Procedural

(4) Metacognitive

Options :

212807130601. 1
212807130602. 2
212807130603. 3
212807130604. 4

Question Number : 1071 Question Id : 21280732651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :
212807130601. 1
212807130602. 2

212807130603. 3
212807130604. 4



Question Number : 1072 Question Id : 21280732652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A child is wondering if there is any thing in the world which can travel faster than the speed of
light. In order to help the child arrive at an explanation, the teacher will have to refer to the
concept of :

(1) Speed, energy and acceleration

{2) Speed, mass and energy

(3) Speed, momentum and particles

(4) Speed, metabolism and energy

Options :
212807130605. 1
212807130606. 2

212807130607. 3
212807130608. 4

Question Number : 1072 Question Id : 21280732652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807130605. 1
212807130606. 2
212807130607. 3
212807130608. 4

Question Number : 1073 Question Id : 21280732653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A. Child reported that when she casually rubbed the rim of a glass with her wet finger, a humming
sound emanated from it. While responding to the child’s observation, the science teacher should :
(1) Say that if the finger was toc wet it wouldn’t have produced the sound.

(2) Explain the phenomena immediately to satisfy the child’s curiosity.

(3) Ask the child to experiment further with different water levels in the glass.

(4) Gently reprimand the child for wasting the teacher’s valuable teaching time.

Options :
212807130609. 1



212807130610. 2
212807130611. 3
212807130612. 4

Question Number : 1073 Question Id : 21280732653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807130609. 1
212807130610. 2
212807130611. 3
212807130612. 4

Question Number : 1074 Question Id : 21280732654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A child is suffering from a viral fever. He takes antibiotics on his own but his condition does not
improve. The doctor fried to help him understand why the antibiotic did not affect the virus. He
will have to make the child understand that -

(1) Virus does not replicate itself when it enters and infects our body.

(2) Virus does not eat the antibiotic even when it is inside our body.

(3) Itis impossible to inhibit any kind of virus for viral activity.

(4) Virus does not have its own cellular machinery for an antibiotic to target.

Options :

212807130613. 1
212807130614. 2
212807130615. 3
212807130616. 4

Question Number : 1074 Question Id : 21280732654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807130613. 1
212807130614. 2
212807130615. 3
212807130616. 4

Question Number : 1075 Question Id : 21280732655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If a teacher asks his students to listen to others and is calling to change her/his mind if wanted, the
teacher is trying to develop:

(1) Objectivity

(2) Open mindednes

(3) Honesty
(4) Scepticism
Options :

212807130617. 1
212807130618. 2
212807130619. 3
212807130620. 4

Question Number : 1075 Question Id : 21280732655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807130617. 1
212807130618. 2
212807130619. 3
212807130620. 4



Question Number : 1076 Question Id : 21280732656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The ability to analyse our experiences and review our actions through reflection is known as :
(1) Perseverance
(2) Scepticism
(3) Critical thinking
(4) Objectivity
Options :
212807130621. 1
212807130622. 2

212807130623. 3
212807130624. 4

Question Number : 1076 Question Id : 21280732656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807130621. 1
212807130622. 2
212807130623. 3
212807130624. 4

Question Number : 1077 Question Id : 21280732657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Formulae are a/an made on the basis of specific examples, which can then be extended

to new examples.

(1) Generalizaticn
(2) Approximation
(3) Model

(4) Assumption

Options :

212807130625. 1

212807130626. 2

212807130627. 3
212807130628. 4



Question Number : 1077 Question Id : 21280732657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807130625. 1
212807130626. 2
212807130627. 3
212807130628. 4

Question Number : 1078 Question Id : 21280732658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - 1L
Actions  List-1I Examples List- 11
(A) Punishment () Teacher gives stars in notebook of learner.
(B) Reinforcement (Il Learner cannot go for games period until he/
she has finished his/her work.
(C) Continuous Reinforcement (IIT) Slapping a child for incomplete homework
(D) Negative Reinforcement (IV) Teacher praises the learners when they give

the correct answers
Choose the correct answer from the options given below :

(1) (AD, (BRI, (Q-IV), (D)D)
(2) (A, (B)-(D), (O-1V), (DI
(3) (A, B, ©)-(D, (D)-(IV)
(@) (AHD, (B-1V), (O-(II), (D)
s 30629
212807130630. 2

212807130631. 3
212807130632. 4

Question Number : 1078 Question Id : 21280732658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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(1) (A0, (B)-(I), (O-~(IV), (D)-(II)
(2) (A, (B)-(I), (O-(IV), (D)-(I)
(3) (A1), (B)-(ID), {O-(D, (D)-(IV)
4)  (A)y(D), (B)-(IV), (O(1I), (D)-(IT)

Options :

212807130629. 1
212807130630. 2
212807130631. 3
212807130632. 4

Question Number : 1079 Question Id : 21280732659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Children are taught about proofs in mathematics to develop reasoning.

(1) Haphazard

(2) Institutionalised
(3) Systematic

(4) Unstructured

Options :

212807130633. 1
212807130634. 2
212807130635. 3
212807130636. 4

Question Number : 1079 Question Id : 21280732659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :
212807130633. 1
212807130634. 2

212807130635. 3
212807130636. 4

Question Number : 1080 Question Id : 21280732660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following intellectual abilities can be developed by teaching art and mathematics in
an integrated manner ?
(1) Multiple manifestations
(2) Contextualization
(3) Mlustrating an inferpretation
(4) Taking a perspective
Options :
212807130637. 1
212807130638. 2

212807130639. 3
212807130640. 4

Question Number : 1080 Question Id : 21280732660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807130637. 1
212807130638. 2
212807130639. 3
212807130640. 4

Question Number : 1081 Question Id : 21280732661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key 'Value




|C0mprehensi0n |MCQ |

Hemant commits mistakes while answering the problems in writing. However, he is able to give
correctanswers orally. What is the best remedial strategy to decrease or remove errors in his writing ?

(1) Giving him a worksheet with partially solved problems to fill the missing gaps.
(2) Providing him an assignment of 10-15 questions everyday.

(3) Giving him extra class after school, continuously for one month.

(4) Asking him {o solve the question on black board.

Options :

212807130641. 1
212807130642. 2
212807130643. 3
212807130644. 4

Question Number : 1081 Question Id : 21280732661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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Options :

212807130641. 1
212807130642 2
212807130643. 3
212807130644. 4

Question Number : 1082 Question Id : 21280732662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Anuj guesses a multiple choice quiz randomly. There are 20 questions and each question has five
possible answers, If X is the number of questions, Anuj answers correctly, the mean of X is

(1 3

(2 4

3 3

(4) 6
Options :

212807130645. 1
212807130646. 2
212807130647. 3
212807130648. 4

Question Number : 1082 Question Id : 21280732662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807130645. 1
212807130646. 2
212807130647. 3
212807130648. 4

Question Number : 1083 Question Id : 21280732663 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What do children gain from participating in creative dramatics ?
(1) They get the training to be an adult.
(2) They foster a sense of discipline.
(3) They learn to be individualistic.
(4) They learn to be serendipituous.
Options :
212807130649 1
212807130650. 2

212807130651. 3
212807130652. 4

Question Number : 1083 Question Id : 21280732663 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807130649. 1
212807130650. 2
212807130651. 3
212807130652. 4

Question Number : 1084 Question Id : 21280732664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ

Given below are two statements :

Statement (I) : Craft and gender do not have any significant linkages.

Statement (IT) : Mostly, women’s work that they do in the different processes of the family craft is
paid.

In the light of the above statements, choose the cerrect answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

Options :

212807130653. 1
212807130654 2
212807130655. 3
212807130656. 4

Question Number : 1084 Question Id : 21280732664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807130653. 1
212807130654. 2
212807130655. 3
212807130656. 4

—

Question Number : 1085 Question Id : 21280732665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




The Indian Music Experience Museum is India’s first music museum in Bengaluru. It
introduces the youth to the diversity of Indian music.

(1) restorative

(2) instrumental

(3) interactive

(4) scientific

Options :
212807130657 1
212807130658. 2

212807130659. 3
212807130660. 4

Question Number : 1085 Question Id : 21280732665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

WIHTE W ST HUgad SEE § WG & ue iftd Fuaers § 1 4% qersh w W
iy =) Fafaemn @ ofifaa wam 21

(1) Sfoifer

() afes

(3) . ferarenes
(4) difrs
Options :

212807130657. 1
212807130658. 2
212807130659. 3
212807130660. 4

Question Number : 1086 Question Id : 21280732666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

An art form that is practised by a community and is sometimes done in groups, with the whole
community taking part :
(1) Classical Art
(2) Folk Art
(3) Visual Art
(4) Performing Art
Options :
212807130661. 1
212807130662 2

212807130663. 3
212807130664. 4

Question Number : 1086 Question Id : 21280732666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ
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Options :

212807130661. 1
212807130662. 2
212807130663. 3
212807130664. 4

Question Number : 1087 Question Id : 21280732667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - [ with List - IL
List - T Art works List - IT Artists
(A) Babur crossing the river Sone (b Haji Madni
(B) Marriage procession of Dara Sikoh () Basawan
(C) Kabir and Raidas (II) Jagannath
(D) A folio from Akbar Namah (IV) Ustad Faquirullah Khan

Choose the correct answer from the options given below :
(1) (&), (B)-(), (O-1V), (D)
(2) (&)1, (B0, (©O-(D, (D(IV)
3) (&), B-IO), (O-(1D, (DHIV)
4)  (A)-D), B, OO, (DHIV)

Options :

212807130665. 1
212807130666. 2
212807130667. 3
212807130668. 4

Question Number : 1087 Question Id : 21280732667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(1) (A, (B)~(I), (O-(IV), (D)-(II)

(2) (A)-ID, (B)-(ID, (O)-(D, (D)-(IV)

(3) (A1), (B)-(1), (O-(11D), (D)-(IV)

4) (A1), (B)-(1D, (O-(D, (D)-(IV)

s 30665. 1

212807130666. 2

212807130667. 3
212807130668. 4

Question Number : 1088 Question Id : 21280732668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Given below are two statements :

Statement (I) : If we take the approach of education through the arts, learning will have to take
place using different art forms and tools in the teaching - learning process.

Statement (II) : Art education can be integrated with social sciences, science, languages and
mathematics in the form of content.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement 1I are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement Iis incorrect but Statement II is correct

Options :

212807130669. 1
212807130670. 2
212807130671. 3
212807130672. 4

Question Number : 1088 Question Id : 21280732668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




W € e fod ) E

HYT (I): AR &9 el & ey A foven o el sroa €, o Taaror stiters whean o fafira e wredl
A & T g AR g € w

A (I1) : ot Toen Fervoraeg o &0 & wrnfres foram, faam, s, o it & wenfee =) < wemd @1
Iud HYT & i, T few v foedi § & W wow =g wife

(1) I R FHoR 1wl }

(2) HAT I FA I AT §

(3) HATLEH B, AT A 1119 B

(4) HEA1TEE L, GfFT FOT T |

Options :

212807130669. 1
212807130670. 2
212807130671. 3
212807130672. 4

Question Number : 1089 Question Id : 21280732669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

A good social science teacher should make efforts to develop concepts and the ability to analyse
socio-political realities retention of information without comprehension :
(1) rather than the
(2) along with the
(3) while parallely encouraging the
(4) and encourage unilateral
Options :
212807130673. 1
212807130674. 2

212807130675. 3
212807130676. 4

Question Number : 1089 Question Id : 21280732669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

wrafae farsm & w313 et W dereyr 3 Tasprg qen grafsres werfas arcfasansi = frvehr @
Wy art afee_ fae awd g o whew

(1) <

(2) Hu™

(3) WY H FHrEaH H g
(4) a9 wekuEg Il e

Options :
212807130673. 1



212807130674. 2
212807130675. 3
212807130676. 4

Question Number : 1090 Question Id : 21280732670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

has been replaced by a new subject in the social science syllabus called “Social and
Political life at the upper primary level.
(1) Sociology
(2) Economics
(3) Political Science
(4) Civics
Options :
212807130677. 1
212807130678. 2

212807130679. 3
212807130680. 4

Question Number : 1090 Question Id : 21280732670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

o I YT il fawe wamsey faew A v wiathe ) o arie g Tsiie S
s Ferws etr e rar 8

(1) SIS

(2) iR

(3) wefae fasm

(4) i e
Options :

212807130677. 1
212807130678. 2
212807130679. 3
212807130680. 4

Question Number : 1091 Question Id : 21280732671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
In which city of India is “Jalianwalla bagh” situated ?
(1) Mumbai
(2) Surat
(3) Pune
(4) Amritsar
Options :

212807130681. 1



212807130682. 2
212807130683. 3
212807130684. 4

Question Number : 1091 Question Id : 21280732671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
I % T v o iferriaren wm ferg 872
(1) T
(2) H«
(3
(4) HAR
Options :

212807130681. 1
212807130682. 2
212807130683. 3
212807130684. 4

Question Number : 1092 Question Id : 21280732672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
What does “Apartheid” mean ?

(1) Allowed

(2) Separation
(3) Welcome
(4) Not Allowed

Options :

212807130685. 1
212807130686. 2
212807130687. 3
212807130688. 4

Question Number : 1092 Question Id : 21280732672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
yonfa wrers w2 91 &2

(1) wAfd

(2) TewrsE

(3) &I

(4) oAl
Options :

212807130685. 1
212807130686. 2



212807130687. 3
212807130688. 4

Question Number : 1093 Question Id : 21280732673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A) : According to the Jaina teachings, the entire world is animated.
Reason (R) :  Non-injury fo living beings, excluding insects, is emphasised upon.
In the light of the above siatements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
{2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
Options :
212807130689. 1
212807130690. 2

212807130691. 3
212807130692 4

Question Number : 1093 Question Id : 21280732673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

g @ o foew mu E: ww afieme (A) F v | fafed § @ guv oS SR (R) F w7
AfRer (A) : S e & sr7or gyl fave S §

NI (R) : I e B Brget @t Siral i =i T ugee o e e wn g

U HYT & el °, g feu w Tyeedt § § W@ e st

(1) B (A) SI(R) Hex § 3 (R), (A) ) we) smem |

(2) 2 (A) i (R) T ? AR (R), (A) T w9 omen T ¥

(3) (A) ¥ g, afT (R) srwed

(4) (A) sTEe g @fRT (R) 91 @

212807130691. 3
212807130692. 4

Question Number : 1094 Question Id : 21280732674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value




|C0mprehensi0n |MCQ |

Given below are two statements :

Statement (I) : Teaching-learning of social science must revolve around transmitting information
from the teacher to the student.

Statement (II) : Social sciences do not involve creativity, scientificity or analytical thought process.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are False

(3) Statement I is true but Statement II is False

(4) Statement I is false but Statement II is true

Options :

212807130693. 1
212807130694. 2
212807130695. 3
212807130696. 4

Question Number : 1094 Question Id : 21280732674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ
Fr & o fgr e g

HUT () : wHfSE T 1 Frarm stfkpra e gro ferenefl o ga @Y Ut s 3 str—ur B
aifgd |

HI (I1) : Grafrer T, Termeseran, Sfreren qen faveraomenss faram wliean & vy = e
S HYA H AR H, 9 fKu n fosedl § 4 W@ TR 919 i

(1) w1 FE I a ¥

(2) w1 st Hem 11 3 e ¥

(3) HUTIEH B, TR R 11 3797 &

(4) THATLIES ¥, AfFT FOT 11T §

Options :

212807130693. 1
212807130694. 2
212807130695. 3
212807130696. 4

Question Number : 1095 Question Id : 21280732675 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Under three language formula, every child learns three languages in his/her school time. One of
the objectives of this formula is to :

(1) Discourage the use of home language as it creates obstacles in children’s learning.

(2) Develop a multilingual classroom as a resource for a better learning approach.

(3) Increase one school subject so that children learn a lot.

(4) Increase an additional subject so that more people may become teachers.

Options :

212807130697. 1
212807130698. 2
212807130699. 3
212807130700. 4

Question Number : 1095 Question Id : 21280732675 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frman g3 ¥ ermla weles anerr orqd Terarrerefa wrer ot sl e |1 W F @ U EE S
(1) =i s % W il gdiemifEd e Riifs T s 3 oifrm H Svady Seqsr e ¥

(2) wgdy sy efesn ¥ fad agunita wan A T gy % g F fawfag w0

(3) T Terarerdta v ot T aifer s sgd | e @

(4) wk AfafiEa v @ wgEn @i sttt o s w9 93

Options :

212807130697. 1
212807130698. 2
212807130699. 3
212807130700. 4

Question Number : 1096 Question Id : 21280732676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Given below are two statements :

Statement (I) : Children learn in a spiral and not a linear way.

Statement (1I) : The act of learning involves a process of establishing connections among facts
experienced or realised by children.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement 1 and Statement Il are False

(3) Statement I is true but Statement 11 is False

(4) Statement I is false but Statement 11 is true

Options :

212807130701. 1
212807130702. 2
212807130703. 3
212807130704. 4



Question Number : 1096 Question Id : 21280732676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fr2 <t oo e e §:

AT (1) : o=t s w0 H den ¥ 7 By wffe)

AT (1) : afepTa e wrersnl gRT W e a1y TRl gl awil A gy wnfug w5 wiEw d
T KA H el H, Y fou o formedl § 4 W I wif

(1) AT 1 3R He 11 9 T &

(2) T i T 11 ST sraey §

(3) HITLTH §, ofr w11 3797 7

(4) HITLEF 7, AfhT KT TH |

Options :

212807130701. 1
212807130702. 2
212807130703. 3
212807130704. 4

Question Number : 1097 Question Id : 21280732677 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following help to picturise a child-centred classroom ?

(1) Children’s performance is reported in terms of marks for subject areas.

(2) Children memorise facts given in the textbook or as told by the teacher.

(3) Teacher provides learning opportunities and guides meaningful learning,.

(4) Children listen while the teacher teaches the content and imparts knowledge.
Options :
212807130705, 1
212807130706. 2

212807130707. 3
212807130708. 4

Question Number : 1097 Question Id : 21280732677 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frerfafad § & e a@ Fsa s # 0 3 9eEE § 2

(1) aterehl < serdspan ot ferwadr F od=t 3 sy we wefity R s &)

(2) w9 9ol R o ¥ S A o Wi qEre B e 3 ¥ sweran foers g wad w3 €1
(3) Torersr afrry & srque war s § qen svbqol siferr & ford antedy @ &

(4) w9 foere yraraeg R e § a9 e e € ), faenel g &)



Options :

212807130705. 1
212807130706. 2
212807130707. 3
212807130708. 4

Question Number : 1098 Question Id : 21280732678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Most children acquire and internalize an externally complex and rule - governed system namely
language

(1) Immediately after they enter school

(2) After spending few years in school

(3) After completing the school

(4) Before coming to school
Options :
212807130709. 1
212807130710. 2

212807130711. 3
212807130712. 4

Question Number : 1098 Question Id : 21280732678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
sifusmin Arers U S § a9 9T ¥ 4 9fed am T e woredt =Rt st Y €

(1) Terrer § w89 3 g qvand

(2) Tauer A g5 o srdtd w3 % w9
(3) Toremerd §HW S % U

(4) Termer o1 9 4o

Options :

212807130709. 1
212807130710. 2
212807130711. 3
212807130712. 4

Question Number : 1099 Question Id : 21280732679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Given below are two statements :

Statement (I) : Language education is confined to the language classroom.

Statement (II) : Children cannot learn anything related to languages in a science, social science
or mathematics class.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are False

(3) Statement I is true but Statement II is False

(4) Statement I is false but Statement II is true

Options :

212807130713. 1
212807130714. 2
212807130715. 3
212807130716. 4

Question Number : 1099 Question Id : 21280732679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

FA S wya e me F -

W (1) . 9 Foen st Y e ae Wife @
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(1) RO i e 11 81 g &

(2) wATI 3 FHer 11 3 srwres &

(3) HATIHN §, AFT HU 11 39 7

(4) HITL 9 8, AT FOA LT

Options :

212807130713. 1
212807130714. 2
212807130715. 3
212807130716. 4

Question Number : 1100 Question Id : 21280732680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Given below are two statements :

Statement (I) : In languages, learning takes place in a holistic manner.

Statement (II) : A subject - centric approach is better for small children while teaching languages.
In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are Falge

(3) Statement I is true but Statement II is False

(4) Statement I is false but Statement II is true

Options :

212807130717. 1
212807130718. 2
212807130719. 3
212807130720. 4

Question Number : 1100 Question Id : 21280732680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
A ey R

wA (1) . wrwisd A siferrg qof wv @ afed dan @

HE (I1) : B arcren & Tore, anwefl s 3w fyw wam efesio foes dar
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(1) RO i e 11 81 g &

(2) wATI 3l Her 11 3 srwren ¥
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Options :

212807130717. 1
212807130718. 2
212807130719. 3
212807130720. 4

Question Number : 1101 Question Id : 21280732681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A large number of children in India have to walk to school every day. It is a long walk. Which of
the following films has shown this ?

(1) Dhanak
(2) Udaan
(3) Dor

(4) Igbal

Options :



212807130721. 1
212807130722. 2
212807130723. 3
212807130724. 4

Question Number : 1101 Question Id : 21280732681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e § wgd i s ) famrer § wiafe Sew o v § 19 e v veds 81 frefafed § & S
fren § o gatm 37

(1) 9%
(2) seW
(3) ER
(4) ZHHAA
Options :
212807130721. 1

212807130722. 2
212807130723. 3
212807130724. 4

Question Number : 1102 Question Id : 21280732682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Satyajit Ray’s film “Shatranj Ke Khiladi’ is based on the story written by -
(1) Premchand
(2) Sharatchand
(3) Ravindranath Tagore
(4) Alok Rai
Options :
212807130725. 1
212807130726. 2

212807130727. 3
212807130728. 4

Question Number : 1102 Question Id : 21280732682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

el Y fren ‘wads ¥ flgond)’ B Foafiga wwerd w sy 2

(1) Faag
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(3) R My TR
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Options :

212807130725. 1
212807130726. 2
212807130727. 3
212807130728. 4

Question Number : 1103 Question Id : 21280732683 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
The genre of the “Bhag Milkha Bhag” is -
(1) Epic

(2) Biopic
(3) Documentary
(4) Commercial

Options :

212807130729. 1
212807130730. 2
212807130731. 3
212807130732. 4

Question Number : 1103 Question Id : 21280732683 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
wyry e s Y fawr §
(1) werssd

(2) sffET we snenfa fyga

(3) geuras
(4) oI

Options :

212807130729. 1
212807130730. 2
212807130731.3
212807130732. 4

Question Number : 1104 Question Id : 21280732684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The character of Saamiya Siddiqui in the Hindi film “Veer-Zaara’ is based on which human rights
activist ?

(1) Farida Khan

(2) Saeeda Hamid

(3) Rokeya Shekhawat

(4) Asma Jachangir

Options :



212807130733. 1
212807130734. 2
212807130735. 3
212807130736. 4

Question Number : 1104 Question Id : 21280732684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

ol T ‘o s | wifien Tafiga) = afta forg gra sefuee srbeal e strnfa §)
(1) wder e
(2) Gz wfag

(3) ®hA S
(4) orrEm Stehii
Options :

212807130733. 1
212807130734. 2
212807130735. 3
212807130736. 4

Question Number : 1105 Question Id : 21280732685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The documentary “The Elephant Whisperers’ is based on :
(1) Biological differences between animals and humans.
(2) Exploitation of animals by humans.

(3) Bond between humans and animalg

(4) Training of animals by humans.

Options :

212807130737. 1
212807130738. 2
212807130739. 3
212807130740. 4

Question Number : 1105 Question Id : 21280732685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

feufate feore, _ geafes a sl §
(1) el g e § SEy et

(2) HISH GRY SR S virgw

(3) HYSR N SHASY I S
(4)  \ysH g sredl o v
Options :

212807130737. 1



212807130738. 2
212807130739. 3
212807130740. 4

Question Number : 1106 Question Id : 21280732686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

‘Why [ am not a Hindu” is written by :
(1) Omprakash Valmiki
(2) Sharan kumar Limbale
(3) Kancha Illaiah
(4) Kanshi Ram
Options :
212807130741. 1
212807130742 2

212807130743. 3
212807130744. 4

Question Number : 1106 Question Id : 21280732686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘e T U e o g’ g Ferfaa #:
(1) shuyswe aredifs
(2) W R s

(3) i sEmEE
(4) High Uy
Options :

212807130741. 1
212807130742. 2
212807130743. 3
212807130744. 4

Question Number : 1107 Question Id : 21280732687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In this movie, a woman with visual and hearing impairment is taught by her teacher to lead a life

of dignity. The name of the movie is

(1) Black

(2) Pink

(3) Blue

(4) Snowfall
Options :

212807130745. 1
212807130746. 2



212807130747. 3
212807130748. 4

Question Number : 1107 Question Id : 21280732687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T gefax § o evd oo 31 aigen s fags § gearrges s i drad 315w gafas 1 am
(1) =%

(2) fu=
(3) =4
(4) ¥
Options :

212807130745. 1
212807130746. 2
212807130747. 3
212807130748. 4

Question Number : 1108 Question Id : 21280732688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

This film has shown the normalisation of viclence and inequalify in a domestic setting. The name
of this film is -

(1) Raazi

(2) Article 15

(3) Dostana

(4) Thappad

Options :

212807130749. 1
212807130750. 2
212807130751. 3
212807130752. 4

Question Number : 1108 Question Id : 21280732688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

wRe] araraen | e aen ST R gy gatas § <ot e &1 gy Fefas @A g -
(1) i

(2) ST 15

(3) BRI

(4) 99g

Options :
212807130749. 1



212807130750. 2
212807130751. 3
212807130752. 4

Question Number : 1109 Question Id : 21280732689 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following is the theme of the short story ‘Parrot’s Training” by Rabindranath Tagore?
(1) The Child’s freedom is at the centre of education system.
{2) The infrastructure is not at the cenire of education system.
(3) The child is at the centre of education system.
(4) The child is not at the centre of education system.
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Which of the following ideas can not be taught using George Orwell’s “Animal farm’ ?
(1) Totalitarianism
{2) Fascism
(3) Propaganda
(4) Compassion
Options :
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Read the passage given below and answer the question :

It would be easy to compile a book full of disturbing stories about scheols and classrooms where
neatness, mechanical accuracy, and orthodoxy of opinion - ie., agreeing with the teacher’s spoken
or even unspoken notions of what is right and proper for children to believe and say - count for far
more than honest, independent, original expression. It is still common in a great many schools to
fail answer sheets that have more than a very few errors in grammar, punctuation, or spelling,
regardless of any other merit they inight have. Not long an answer, entirely free of any mechanical
errors and otherwise well written, was failed because student wrote it in three colours of ink. And
this was in a ‘good” school system. But the real reason that our schools do not turn out people, who
can use language simply and strongly, let alone beautifully, lies deeper. It is that with very few
exceptions the schools, from kindergarten through graduate school, do not give a damn what the
students think. Think, care about, or want to know. What counts is what the system has decided
they shall be made to learn.

If we are to make real progress in improving student writing, the first lesson we have to learn is
this: a student will be concerned with his own use of language, and therefore try to judge its
effectiveness, only when he is talking to an audience, and not just one that aliows him to say what
he wants as he wants, but one that takes him and his ideas seriously.

The author is of mechanical accuracy in schools.
(1) Appreciative

(2) Explorative

(3) Encouraging

(4) Critical
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Read the passage given below and answer the question :

It would be easy fo compile a book full of disturbing stories about schools and classrooms where
neatness, mechanical accuracy, and orthodoxy of opinion - i.e., agreeing with the teacher’s spoken
or even unspoken notions of what is right and proper for children to believe and say - count for far
more than honest, independent, original expression. It is still common in a great many schools to
fail answer sheets that have more than a very few errors in grammar, punctuation, or spelling,
regardless of any other merit they inight have. Not long an answer, entirely free of any mechanical
errors and otherwise well written, was failed because student wrote it in three colours of ink. And
this was in a “good’ school system. But the real reason that our schools do not turn out people, who
can use language simply and strongly, let alone beautifully, lies deeper. It is that with very few
exceptions the schools, from kindergarten through graduate school, do not give a damn what the
students think. Think, care about, or want to know. What counts is what the system has decided
they shall be made fo learn.

If we are to make real progress in improving student writing, the first lesson we have to learn is
this: a student will be concerned with his own use of language, and therefore try to judge its
effectiveness, only when he is talking to an audience, and not just one that allows him to say what
he wants as he wants, but one that takes him and his ideas seriously.

Given below are two statements : one is labelled as Assertion (A) and the other is labeiled as
Reason (R).

Assertion (A) : It is common in schools to fail students’ answer sheets.
Reason (R) : The quality of writing is given more importance than spelling and grammar.
In the light of the above statements, choose the correct answer from the options given below :
(1) DBoth (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
Options :
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Read the passage given below and answer the question :

It would be easy to compile a book full of disturbing stories about scheols and classrooms where
neatness, mechanical accuracy, and orthodoxy of opinion - ie., agreeing with the feacher’s spoken
or even unspoken notions of what is right and proper for children to believe and say - count for far
more than honest, independent, original expression. It is still common in a great many schools to
fail answer sheets that have more than a very few errors in grammar, punctuation, or spelling,
regardless of any other merit they inight have. Not long an answer, entirely free of any mechanical
errors and otherwise well written, was failed because student wrote it in three colours of ink. And
this was in a ‘good” school system. But the real reason that our schools do not turn out people, who
can use language simply and strongly, let alone beautifully, lies deeper. It is that with very few
exceptions the schools, from kindergarten through graduate school, do not give a damn what the
students think. Think, care about, or want to know. What counts is what the system has decided
they shall be made to learn.

If we are to make real progress in improving student writing, the first lesson we have to learn is
this: a student will be concerned with his own use of language, and therefore try to judge its
effectiveness, only when he is talking to an audience, and not just one that allows him to say what
he wants as he wants, but one that takes him and his ideas seriously.

According fo the passage what is the reason behind schools’ inability to enhance students’ ability
to express and use language strongly ?
(1) Overemphasis on thought processes
(2) Focus on individuality
(3) Neglect of grammar rules
(4) Disregard of thought - processes
Options :
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Read the passage given below and answer the question :

It would be easy to compile a book full of disturbing stories about scheols and classrooms where
neatness, mechanical accuracy, and orthodoxy of opinion - ie., agreeing with the feacher’s spoken
or even unspoken notions of what is right and proper for children to believe and say - count for far
more than honest, independent, original expression. It is still common in a great many schools to
fail answer sheets that have more than a very few errors in grammar, punctuation, or spelling,
regardless of any other merit they inight have. Not long an answer, entirely free of any mechanical
errors and otherwise well written, was failed because student wrote it in three colours of ink. And
this was in a ‘good” school system. But the real reason that our schools do not turn out people, who
can use language simply and strongly, let alone beautifully, lies deeper. It is that with very few
exceptions the schools, from kindergarten through graduate school, do not give a damn what the
students think. Think, care about, or want to know. What counts is what the system has decided
they shall be made to learn.

If we are to make real progress in improving student writing, the first lesson we have to learn is
this: a student will be concerned with his own use of language, and therefore try to judge its
effectiveness, only when he is talking to an audience, and not just one that allows him to say what
he wants as he wants, but one that takes him and his ideas seriously.

According to the author, which of the following would helps to improve students” writing skills?
(A) Pay attention to his thinking and punctuation.
(B) Attempt to evaluate his own use of language.
(C) Talk to an audrence that takes him seriously.
(D) Interact with an audience that is uncondrtionally applauding,
(E) Interact with an audrence that is critical and disinissive
Choose the correct answer from the options given below :
(1 (B) & (C) Only
(2)  (B) & (D) Only
(3)  {(A) (B) & (C) Only
4) (O (D) & (E) Only
Options :
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Read the passage given below and answer the question :

It would be easy to compile a book full of disturbing stories about schools and classrooms where
neatness, mechanical accuracy, and orthodoxy of opinion - i.e., agreeing with the teacher’s spoken
or even unspoken notions of what is right and proper for children to believe and say - count for far
more than honest, independent, original expression. It is still common in a great many schools to
fail answer sheets that have more than a very few errors in grammar, punctuation, or spelling,
regardless of any other merit they might have. Not long an answer, entirely free of any mechanical
errors and otherwise well written, was failed because student wrote it in three colours of ink. And
this was in a “good’ school system. But the real reason that our schools do not turn out people, who
can use language simply and strongly, let alone beautifully, lies deeper. It is that with very few
exceptions the schools, from kindergarten through graduate school, do not give a damn what the
students think. Think, care about, or want to know. What counts is what the system has decided
they shall be made to learn.

If we are to make real progress in improving student writing, the first lesson we have to learn is
this: a student will be concerned with his own use of language, and therefore try to judge its
effectiveness, only when he is talking to an audience, and not just one that allows him to say what
he wants as he wants, but one that takes him and his ideas seriously.

According to the passage what does the school system pay attention to ?
(1) Students thinking abilities.

(2) System approved knowledge.

(3) Nurturing students curiority.

(4) Using language beautifully.

Options :
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Read the passage given below and answer the question :

Education ought to be a guide in this more critical period of life and of school The teacher must
again be made aware of his limitations, as we have already establlshed with regard to the teacher
of the smaller child. For the small child, he had to “count his words.” Here he must be sure of what
he ought to do, of what he ought to say, and of the extent to which he must reply to questions.
It is essential for the child, in all periods of his life, to have the possibillty of activities carried out by
himself in order to preserve the equilibrium between acting and thinking. His thoughts could, in
effect, have the tendency to lose themselves in abstraction by reasoning without end just as the
small child loses himself in a world of fantasy. We bring specific objects to the small child in an
environment prepared for him. Here he acquires independence thanks to his own effort. And this
activity gives him dignity. It is his own experience that brings him exact answers.

The role of education is to interest the child profoundly in an external activity to which he will give
all his potential. We are concerned here with bringing him liberty and independence while interesting
him in an activity through which he will subsequently dlscover reality. And for him this is the
means by which he may free himself from the adulk.

What is the role of education in a learner’s life ?
(A) Asserting agency

(B) Discovering reality

(C) Limiting the learner’s abstract thinking
(D) Realising the learner’s full potential

(E) Disciplining the learner’s body

Choose the correct answer from the options given below :
1) (&), (B), (C) Only

(2) (&), (B), (D) Only

() (&), (B), (E) Only

4) (B), (D), (E) Only

Options :
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Read the passage given below and answer the question :

Education ought to be a guide in this more critical period of life and of school. The teacher must
again be made aware of his limitations, as we have already established with regard to the teacher
of the smaller child. For the small child, he had to “count his words.” Here he must be sure of what
he ought to do, of what he ought to say, and of the extent to which he must reply to questions.
It is essential for the child, in all periods of his life, to have the possibility of activities carried out by
himself in order to preserve the equilibrium between acting and thinking. His thoughts could, in
effect, have the tendency to lose themselves in abstraction by reasoning without end just as the
small child loses himself in a world of fantasy. We bring specific objects to the small child in an
environmen{ prepared for him. Here he acquires independence thanks fo his own effort. And this
activity gives him dignity. It is his own experience that brings him exact answers.

The role of education is to interest the child profoundly in an external activity to which he will give
all his potential. We are concerned here with bringing him liberty and independence while interesting
him in an activity through which he will subsequently discover reality. And for him this is the
means by which he may free himself from the adult.

How can a feacher ensure a fine balance between a learner’s conscious actions and abstract
thinking ?

{1) Demonstrating experiments only

(2) Not engaging with abstract ideas

(3) Activity-based learning

(4) Punishing the child

Options :
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Read the passage given below and answer the question :

Education ought to be a guide in this more critical period of life and of school The teacher must
again be made aware of his limitations, as we have already established with regard to the teacher
of the smaller child. For the small child, he had to “count his words.” Here he must be sure of what
he ought to do, of what he ought to say, and of the extent to which he must reply to questions.
It is essential for the child, in all periods of his life, to have the possibility of activities carried out by
himself in order to preserve the equilibrium between acting and thinking. His thoughts could, in
effect, have the tendency to lose themselves in abstraction by reasoning without end just as the
small child loses himself in a world of fantasy. We bring specific objects to the small child in an
environment prepared for him. Here he acquires independence thanks to his own effort. And this
activity gives him dignity. It is his own experience that brings him exact answers.

The role of education is to interest the child profoundly in an external activity to which he will give
all his potential. We are concerned here with bringing him liberty and independence while interesting
him in an activity through which he will subsequenly discover reality. And for him this is the
means by which he may free himself from the adult.

In a classroom, teachers often ask childien to sit quietly. Based on your understanding of the
passage, what should a teacher do in such scenatios :

(1) Punish the learner

(2) Give elaborate lectures about discipline

(3) Notinvade the learners” space

(4) Make the learner conscious of his/her actions.

Options :
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Read the passage given below and answer the question :

Education ought to be a guide in this more critical period of life and of school. The teacher must
again be made aware of his limitations, as we have already established with regard to the teacher
of the smaller child. For the small child, he had to “count his words.” Here he must be sure of what
he ought to do, of what he ought to say, and of the extent to which he must reply to questions.
It is essential for the child, in all periods of his life, to have the possibility of activities carried out by
himself in order to preserve the equilibrium between acting and thinking. His thoughts could, in
effect, have the tendency to lose themselves in abstraction by reasoning without end just as the
small child loses himself in a world of fantasy. We bring specific objects to the small child in an
environmen{ prepared for him. Here he acquires independence thanks fo his own effort. And this
activity gives him dignity. It is his own experience that brings him exact answers.

The role of education is to interest the child profoundly in an external activity to which he will give
all his potential. We are concerned here with bringing him liberty and independence while interesting
him in an activity through which he will subsequently discover reality. And for him this is the
means by which he may free himself from the adult.

Why is it important to engage with a learner’s personal experience in the classroom ?
(1) For participating in the knowledge making process
(2) For the purpose of assessment
(3) To recognise the limitations of the learner
(4) To discipline the mind
Options :
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Read the passage given below and answer the question :

Education ought to be a guide in this more critical period of life and of school. The teacher must
again be made aware of his limitations, as we have already established with regard to the teacher
of the smaller child. For the small child, he had to “count his words.” Here he must be sure of what
he ought to do, of what he ought to say, and of the extent to which he must reply to questions.
It is essential for the child, in all periods of his life, to have the possibility of activities carried out by
himself in order to preserve the equilibrium between acting and thinking. His thoughts could, in
effect, have the tendency to lose themselves in abstraction by reasoning without end just as the
small child loses himself in a world of fantasy. We bring specific objects to the small child in an
environmen{ prepared for him. Here he acquires independence thanks fo his own effort. And this
activity gives him dignity. It is his own experience that brings him exact answers.

The role of education is to interest the child profoundly in an external activity to which he will give
all his potential. We are concerned here with bringing him liberty and independence while interesting
him in an activity through which he will subsequently discover reality. And for him this is the
means by which he may free himself from the adult.

According to the passage, who is an ideal teacher ?
(1) Has mastery over the subject

(2) An efficient and disciplined teacher

(3) Has access to resources

(4) Aware of his or her limitations

Options :
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